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Salary 

 1. The average welder makes approximately $85 000.00/year.  What is the monthly gross pay? 

 
 

 

 

 Divide the salary by 12 to get the monthly salary: 

monthly salary = $85 000/year ÷ 12 months 

                         = $7 083.33 

 

The average monthly salary for a welder is $7 083.33. 

 
 

 

 
 

 

 

2. Doug is paid a salary of $3845.00 per month as a service advisor for a car dealership.  How 

much does Doug make in one year? 

 
 

 

 

 Multiply the monthly salary by 12 to get the yearly salary. 

yearly salary = $3845.00/ month  × 12 months 

                      =$46 140.00  

 

Doug’s yearly salary is $46 140.00. 

 
 

 
  


